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A knot d1agranﬂ Ci1 €7 € €3 Ci2 C¢ Cip C5 C2

Ideals for irreducible component#ﬂ)f Xpar

I = (=30 +76u® + - b+ 1, 205+ e -3, w20+ —du— 1)
=@ +b-1,a—1, v —u*—2u+1)

* 2 irreducible components of dim¢ = 0, with total 41 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (—3u3"+76u%+- - -+b+1, 203 +u?®+...+a—3, u*¥+2u3"+. .. —4u—1)

(i) Arc colorings
o (1)
an = )

237 — w4+ —15u2 +3
3udT — T6uS + - —6u—1

ud +u)

ud — 5u8 + Tut —4u? + 1 )

(6
o= (e
(i
(-
ag = ( ul® + 6u® — 11ub + 6ut + u?
.
(
(
o- ("
(

ag =

ay = u57+26u35+ +u+1

—u?+1
ut — 2u?

V)

udl + 25Ut + - —u+ 2)

ay =

ag =
u +1)
2
ud —2u
as = u® +u
—u 4 —u+3
az = 725u35+~~+u2—2u

(ii) Obstruction class = —1

(iii) Cusp Shapes = u*" +4u36 + .- + 31u — 7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C4 W T —u—1
C3,Cs w4+t 120+ 8
Cs5,Ce, C7 WS 23T h dy—1
€10, C11, C12
o u3® — 63T + - — 476u + 55




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C2,C4 Y38 —360°T + .-+ 35y +1
cs3,Cs Y38 — 21937 ... — 848y + 64
Cs5, Co, C7 Y3 54T 4. 28y + 1
€10, C11, C12
€9 v +61°7 + - .- — 132856y + 3025




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = 0.879915 4 0.2800831
a = —0.422412 4 0.0015931
b= 1.259570 4 0.0418591

—4.46594 — 0.621551

1.23906 — 1.005541

u=0.879915 — 0.2800831
a = —0.422412 — 0.0015931
b= 1.259570 — 0.0418591

—4.46594 + 0.621551

1.23906 + 1.005541

u= 1107830+ 0.1112171
a= 1.127560 4 0.8384161
b= —0.893007 — 0.1881181

2.67127 4 0.724251

3.65418 — 0.861341

u= 1.107830 —0.1112171
= 1.127560 — 0.8384161
—0.893007 + 0.1881181

2.67127 — 0.724251

3.65418 + 0.861341

—1.132560 4 0.1711551
0.264697 — 1.1144601
0.795265 — 0.5060191

1.45072 — 3.236681

4.64812 + 3.177871

—1.132560 — 0.1711551
0.264697 + 1.1144601
= 0.795265 + 0.5060191

1.45072 + 3.236681

4.64812 — 3.177871

1.174750 + 0.1910501
—0.51302 — 1.486711

4.18688 + 5.419751

6.64086 — 6.142711

1.174750 — 0.1910501
—0.51302 4 1.486711
0.349369 — 0.1963891

4.18688 — 5.419751

6.64086 + 6.142711

—1.211660 + 0.0744291
= —0.357902 + 0.7059051
= —0.289689 + 0.1332011

6.39460 — 0.993701

11.55440 4+ 0.1

= —1.211660 — 0.0744291
= —0.357902 — 0.7059051

b
U
a
b
U
a
b
U
a
b= 0.349369 4 0.1963891
U
a
b
U
a
b
U
a
b= —0.289689 — 0.1332011

6.39460 + 0.993701

11.55440 + 0.1




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

1.201030 + 0.2538691
a = —0.05721 + 1.560311
b= 0.060414 + 0.1645161

u =

—1.60053 + 9.439061

3.22111 — 6.407131

uw=1.201030 — 0.2538691
a = —0.05721 — 1.560311
b= 0.060414 — 0.1645161

—1.60053 — 9.439061

3.22111 4 6.407131

u = —0.477067 + 0.4976221
a= 0.243665 + 0.6680121
b= —0.819079 — 1.0878401

—6.95978 — 6.843711

—0.65587 + 7.184571

u = —0.477067 — 0.4976221
a= 0.243665 — 0.6680121
b= —0.819079 + 1.0878401

—6.95978 + 6.843711

—0.65587 — 7.184571

u = —1.36368
a= 1.08623
b= —0.216111

3.27250

u = —0.423369 + 0.4003751
a = —0.726383 — 0.4231491
b= 0.291431 + 0.9569101

—0.93228 — 3.402971

2.14199 + 8.417531

u = —0.423369 — 0.4003751
a = —0.726383 + 0.4231491
b= 0.291431 — 0.9569101

—0.93228 + 3.402971

2.14199 — 8.417531

u = —0.195413 + 0.5444371
a = —1.31438 — 1.371351
b= 0.069081 — 0.1257861

—7.79779 + 3.422321

—3.36452 — 0.773651

u = —0.195413 — 0.5444371
a = —1.31438 + 1.371351
b= 0.069081 + 0.1257861

—7.79779 — 3.422321

—3.36452 + 0.773651

u= 0.341654 + 0.3971481
a = —1.48910 — 0.457501
b= —0.079740 + 0.9976051

—3.23774 + 1.348701

—0.24766 — 4.749661




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

0.341654 — 0.3971481
a = —1.48910 4 0.457501
b= —0.079740 — 0.9976051

u =

—3.23774 — 1.348701

—0.24766 + 4.749661

u= 0477554+ 0.1339201
a= 0.643576 + 0.2906551
b= —0.342626 — 0.3769751

0.891274 + 0.2234421

10.83666 — 1.681761

u= 0477554 — 0.1339201
a= 0.643576 — 0.2906551
b = —0.342626 + 0.3769751

0.891274 — 0.2234421

10.83666 + 1.681761

u = —0.229708 + 0.3857091
a= 1410724 0.845471
b= 0.063553 — 0.3965381

—1.49424 4 0.716291

—1.75673 4 0.248251

u = —0.229708 — 0.3857091
1.41072 — 0.845471

a =

—1.49424 — 0.716291

—1.75673 — 0.248251

b= 0.063553 + 0.3965381
u = —1.70748
a= 0.768656 4.46722 0
b= —0.625166
u = —0.234823
a= 2.58144 —1.29292 —12.5790
b= 10.732163
u = —1.76514 + 0.027881
a= 0.56054 — 1.494671 13.15060 — 1.314891 0
b= —1.66540 + 3.036141
u = —1.76514 — 0.027881
a= 0.56054 4 1.494671 13.15060 + 1.314891 0
b= —1.66540 — 3.036141
u= 176796 + 0.041141
a= 0.92517 4 2.508931 12.00080 + 4.131781 0

b= —1.34181 — 4.807411




Solutions to I} v—1(vol ++1/=1CS) | Cusp shape
u= 1.76796 —0.041141
a= 0.92517 — 2.508931 12.00080 — 4.131781 0
b= —1.34181 4 4.807411
u = —1.77750 + 0.047751
a = —0.01149 + 2.457091 14.9410 — 6.45861 0
b= 0.24659 — 4.974501
u = —1.77750 — 0.047751
a = —0.01149 — 2.457091 14.9410 + 6.45861 0
b= 0.24659 + 4.974501
u = —1.78301 4 0.065471
a = —0.63670 — 2.778007 9.2442 — 10.85281 0
b= 1.33294 4 5.470201
u = —1.78301 — 0.065471
a = —0.63670 + 2.778007 9.2442 + 10.85281 0
b= 1.33294 — 5.470201
u= 1.78759 4+ 0.018271
a = —0.73970 — 1.683251 17.4040 + 1.40581 0
b= 1.31660 + 3.306691
u= 1.78759 —0.018271
a = —0.73970 + 1.683251 17.4040 — 1.40581 0
b= 1.31660 — 3.306691
u= 1.82025
a= 1.74840 15.0989 0
b= —-3.59779




IL 1Y =(u?+b—1,a—1, u* —u? —2u+1)

(i) Arc colorings

1
ail = \0
1
a1g = _u2
1
az = \—u2+1
U
ag = \—u®—u+1
U
ag = \—u?—u+1
1
ag = \—u?+1
—u?+1
ar= \u?+u-1
—u
a6: u
—u?+1
ayo = u?
u? -1
as = \—u? —u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = —u? +u + 11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
3
C1,C2 (u — 1)
C3,Cg u3
Cy 1 3
(u+1)
€5, C6, C7 ud +u? —2u—1
Co
3 2_9 1
€10, C11; C12 u” —u” —2u+
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C2,C4 (y_l)
C3,C8 y3
Cs5,C6, CT
#—5y® +6y—1
€9, €10, C11 Yy Y Yy
C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape

u = —1.24698

a = 1.00000 4.69981 8.19810

b = —0.554958
u=0.445042

a = 1.00000 —0.939962 11.2470

b= 0.801938

u= 1.80194

a = 1.00000 15.9794 9.55500

b= —2.24698

12



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C2 (u—1)3)(u® —4u3" + - —u—1)
3, Cs w3 (w40 4 120+ 8)
¢4 (w4 1)) —4u3" + - —u—1)
¢s, Co, C7 (u® +u? —2u — 1)(u®® + 203"+ —du — 1)
9 (u® 4+ u? — 2u — 1)(u®® — 6u3" + - - — 476u + 55)
€10, C11, €12 (u —u? —2u+ D)+ 203" + - —du—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C2,C4 ((yfl)s)(938*36y37++35y+1)
c3,C8 P (38 — 2197 + .- — 848y + 64)
Cs,Ce, C7 y3—5y2+6y—1 y38_54y37+_.__28 +1
Y
€10, €11, €12
Co (3 — 5y* 4 6y — 1)(y*® + 6y°7 + - - - — 132856y + 3025)
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